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147 Sledding down a slope

A sled and person, with combined mass 100kg slide down a flat frictionless surface that is
angled at 20° above the horizontal. (111F2023)

a) Determine the acceleration of the sled and person.

b) Determine the normal force on the sled and person.
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156 Dragging a box horizontally
A 25kg box can move_along a rough horizontal surface.
The coeflicient of static friction between the box and sur-
face is 0.30. A rope pulls horizontally on the box, De- &
termine the minimum force needed to move the box from
rest. (111F2023)
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